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QUESTION 1

In a work item comment, a practitioner types in "defect 2632". Given that there is an existing work item with the ID
number 2632, which statement is true? 

A. The current comment is copied and added as a comment to "defect 2632". 

B. A parent-child relationship is created between the current work item and "defect 2632" 

C. A link to "defect 2632" is created, and a click on the link opens the corresponding work item. 

D. The content of "defect 2632" is copied into the current comment. 

Correct Answer: C 

 

QUESTION 2

A team wants to make some attributes mandatory when work items are created. In order to meet this objective, want
can be done in Rational Team Concert ? 

A. Work item attributes are all optional by design and there is no way to define mandatory attributes for work items 

B. Add a precondition to the Work Item Save operation to define which fields in a work item must be filled in before it
can be saved 

C. Work item attributes are all mandatory by design. Users who create a work item are required to fill in all the
attributes. 

D. Add a follow-up action to the Work Item Save operation to define the error message to display when mandatory
attributes are not filled in 

Correct Answer: B 

 

QUESTION 3

What is the main purpose of the work item discussion section? 

A. to add notes and exchange information about the work item 

B. to assign the owner of the work item 

C. to move the work item through its lifecycle to the resolved state 

D. to associate a work item with a release 

Correct Answer: A 

 

QUESTION 4
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What are configurable items for the process template? 

A. timelines, iterations, roles, and operational behaviors 

B. plugins, cheat sheets, and dependencies 

C. Java source code, source comments, and event handlers 

D. categories, releases, and access control 

Correct Answer: A 

 

QUESTION 5

Which two items/objects can own a component? (Choose two.) 

A. A user 

B. An iteration 

C. A source file D. A team area 

Correct Answer: AD 
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